yid FH HEY qgg S~y 1PTET
wrdFg ’“-7”3.]—'{ EAEIC T b ]r.Jl-iff'-'Fw'r _q
& 68 T4 ) W 2 v o 1 T €
(B) femradt 9&T

-
f la

(A) TS

(L) W”E (D) I Tadl
India’s largest I-nH_r_(!L.[.J:-r::u'nm'l.
~Unvergence program “Operation I‘IJ"';IMIPL
Was launched Lh\_ the Government ©
which of the flaFlnlwr'n;_: states 7

(A) Gujarat

(B) Himachal Pradesh

(C) Maharashtra

(D) Uttar Pradesh

78. I oW yferE #i ez N E 7
(A) &1, JaT, T
(B) HomHa W qq
(C) @ar, g, wify

(D) HET AT9H!, GFe9 BT

What is the tagline of Uttar Pradesh
Police ?

(A) Seva, Veerta. Bandhuta

(B) Satyamev Jayate

(C) Seva, Suraksha, Shanti

l{DJ Suraksha Aapkf‘ Slil’]kilip HLiIIT.’H’i’l
9 3 Feferfiaa & & fep foret 3 R 2 7

79.

(A) FHfar (B) - 3rcHrl
(C) <ot (D) =9mEd
Aryabhatta Research Institute of
Observational Sciences is located in

which of the following districts of
Uttarakhand state ?

(A) Nainital (B) Almora

(C) Chamoli (D) Champawat

G20 F1 i ¥7 7 2 7

(A) Fezdd
(B) 7 3% 5
(C) T 317 73
(D) it 37 25
What is the fy]| form of G20 7
(A) Grand Twenty
(B)  Group of Twenty
(C) Glory of Twenty
(D) Gathering of Twenty

VAN B L v e, L BN

DH-1

80.

TN sy,

81,

82.

83.

84.

N
Tty

16

b (C) Baj;

J{-‘J{;F{ aEa | 'Hflf’*?ﬂ' 4
Frifafaa 4 2 fag ;f-,fIF?:]
1

7 41 f : 5 f-?q“
(A) a:rﬁfdm U!, 4?4”%

(C) "M : ”)j %

The Grand (.any.on lﬁqa' g 3
States of An‘mnca Wa:din the

which of the m”“““i"gr,- car"‘ed ”“"lecl

(A) Columbia m) Verg,  Ow by

(C) Yukon ﬂ)} 2::15%

aqTed | rrgamﬂ Sfiugs - Oragg

frfafaa 4 2 ﬁ‘h-qa; :miaar(mm

T YT 7 Er{ﬂ-lﬁa

(A) =g« afafa g
(B) il <15 i

() &t afafa

The idea of a nationwide GST ;

was first proposed by Whichm India
following ? Of the
(A) Basel Committee

(B) The Kelkar Tagk Force
(C)  Rekhi Committee
(D) C. Rangarajap Committee

amaasmutﬁmmqﬁmh
(A) YA (B) w=mmm ,
(©) mrede (D) re

Which of the following neighbouyi
countries of India does not share lapg

boundaries with India ? |
(A) Bhutan |
(C) Maldives

(B) Myanmar

(B) uretz

(D) =
's the capital of which of th
Countries of Asia ?
Japan (B) Thailand
(D) China

=4 T "“’"t""’"’l‘“m

following
(A)



. i
100 S H = |Ill-1.
= 14 . = |
- il
S |
4 - 3 "
] 13 2 gl
g I
() T i L |
¥ \ : i ya1vel ‘1
Her: ’ 1 } \ | ho \
' Niape ‘\'[ » 1"" \,b\-\
the | " (BH g1iu a'l
ne follow: (S) ,'|-].11-l
3 ING Statee/11Ts Of ¥
L ) I r-”H_‘_Bl.II I
2 . il
B) l‘!rn‘._g_'.il Il e
I('] f:'..'."'-]

lar
amn
imuy & T"I-.I\i]'l‘-:"

(D)

* ‘-#‘ﬁfﬂﬂ:{ gl
A) f o aﬁqﬁﬁ

(©
.h e .
Mic tarm § v .
W™ hensive and Visionary inig;
com?’ s to eMPOWer Women for .

<y it/ 1. 0
ﬁl’:k‘u rad(.’,bh ’

e e
1 1 = e S
CRELAE - ® 3hn
_off 9B B [+ |
3 + ol ST, et o o

iv7a

q
o BRI
'l‘r-'dq.I .ﬁ‘JTa“'i #HATAT R 7 iy N

(B) 1‘-’%31_‘ -
i

the

of 'l‘lﬂ'l(}\\-i.ng

d
Alye
s . Aoy,

al I fakianna Ry,
g and self-reliance in (he \tam o

Utar” . cion Sunita

Mi

Ladak) . akti
th “\} region Shakti
. \ o MiSE el
I“]_ -‘,'T?l HCH iy :._:_171“ :“l]{‘. eh -3‘13311:" {B] MISSion Vamlﬂ'l
T BN T eon |3 frdd I C) _ecion Vanita
PN sl 2 9% g o I 249 fﬂ'ﬁqﬁ ( sth;o
;;_. =1 HETd 2T -";Et| - :j_.l_:;:‘rr:i J_lT LD]
\144; oy o oa H Prefelisd ¥ ) G
LA) T4 TF
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(C) =7 :D' T:-- 105. ﬁﬁﬂ]ﬁqﬁ@% [}
The State o appoint hOW T4 ; AT
€ State government shall aPPO™ ﬁﬂ'@g (B)
many “Collectar” (v <rr1oding assistant ) :
y “Collector” (not ]1-"_|Jd|n5;_ Uttar [A % ﬁg-l—{
)r ;-@ditiunal collectors) as per The U \ ©) ng'JT“ﬂ (D)
I;a(]CfE]LT{“"i‘I1L=c Code, 2006 ° TT:1 state porder of Uttar Pradesh does
A) hree (B) One € ¢ £ whi
(C) Four (D) Two . \ ot mU.Ch ;?att::qhorder ) ch of the
102. Sd9 # seEER 3w APE3 9 \ following '
L2 . \ o A ; chand (B) Telangana
At present what is the filﬂ_C“Lmeﬂ. (C) Haryana (D)
strength of Judges of the High Court {
Judicature at Allahabad ? ; = N
(A) 160 (B) 180 |106. ﬁwwﬁﬂaﬁﬁhaﬁm%
(C) 150 (D) 170 \ e 2 o e s A Rk
103. RE & @aAal S quﬁj:;m = (A) AT e
g 4 .”,I_W : | (B) aferHie @
(A) W;‘Eﬁ $ © e
(B) TG F<T i : }
) HwdfEd (D) AT
(D) pﬁwm? llowing was the first The highest peak in southern India 1S
Who among the IOTOVFS T : Anamudi that is situated in which of the
. ex fiiater Of the State of Uttar Pradesh
St Mllm;ependence of India ? following mountain ranges ?
4 e Indey coa i
i lhshri yogi Adityanath (A) Nilgiri Range
(A) Shri Gobind Ballabh Pant B) Velikonda Range
r-,{ ‘FE; shri N.D- Ti“’?l’i (©) Vindhya Range
: ‘([")) Shri Ka_l;.'a__ﬂs'“gh _ al (D) Balaghat Range )
L 19 - o AT P
DH-1
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19, J-JBMS.-SMHD; rJAVA : (7)

25, A1 faw 1y gve § o Wy o
AVIA I, 11, 111 3f7 1v IR T ?"'%\»,,4
[;U AV’}J ‘;’:} JAAV HATIH! 7% 79 Em fy %%h
(C) AAV) @) . bl Lp ?/i‘“'fr%m/g'.’“ﬁ
20. fig HFF & fpad qrf # 7 there in the i, ;}(/ﬁéﬁr Hai;n%?;;q ¥ hy E:irr](u
How many squares are fereregi 5 AT : ) Ty
rll(i}hming figure ? FYT : #F gPAn %" q
ENEnm ﬁm%mmm“"ﬁ
AT T I fagay Tt
ey %,%a;’m%?
e Ia "I . a* I .
fz\an'_J_L—(T}} 12 (C) 16 ;;:’;(I)Jﬁﬂﬁ maﬁaﬁraa%m, *
21, mwﬁﬁmﬁﬂﬁwﬁg;@m%aﬂr II h'%%ﬁiﬁ%
é;qcrﬁ W‘é ﬁwiaﬁ‘;@ﬁ 317%;;’ TE grerar @ | 4 &
7 STl 3 A H}ﬂTJ
Waﬁ?ﬁgmggﬁJ%ﬁ m._ffrﬂg;rf%zﬁ%iaaﬂﬁw
g Hq ! 1%15?&'
2 m\ mﬁﬁ)—d:ﬁ@q? 37]
ST 8 | 9% =Ry 3 IV, mﬁmmma%’ﬁ;
&2 (A) F Ul ryq 3 |
(4)" 14 ferft (B) mfé;ﬁ;f (B) %alaﬂznm‘u(a?l
A peson try D) LI L P IV Ty 3 |
A person starts from home and m iohe (©) Hefgq
towards west by () km, then ““.T]? ”C’d (D) FHaeqp
and moves by km, again turns right a“d
Moves by 14 km, then turns left an

oves by 4 km ang at last turns left and

Moves by 4 km. ow far the person is
om home Position ?

U argumentg
numbered |, Iy IIT and 1v Yo have to
decide which of the argument(s) iS/are

(A) 14 km (B) 10 km strong’ ar ment(s) and Which jg;.
© 17km (D) 11 km . ‘weak’ ent(s) and according]
et 1 5y q1 g 778 a7am G § Ry choose Your answer from the altematives
wqma:gg m&qgﬂ%ﬁi‘m ? given below the question :

Which ope t of letters When Statement *  Should

Sequentially placed at the gaps in the educationg] i

8iven letter series sha]] complete ¢ ?

CBpCA

LEA_BACBrCA s Cyp
(A) BDDDpR

than the Optimuy
(B) ADDBBR
(©) BBBDpDp

seeking jobs 2
@) ADDDDR 'guments . E
) No,
23. fu Wﬁﬁm!’}l 92 et fymey T ) probléltn m‘gdlmzruzéﬁvm
gme thgo LY e L Yes. Creates Complexeg {
ones that wijj Complete the sen’e:? i oL loy ~eS and atfects the Work;
12,23, 34 45, 56, adversely. :
(A) 71 (B) 67 (C) 78 D) 69 111, No. This goes against the basic
24 ﬁﬂaq'r:aﬁ'::m © rights of the individyg].
(A) g | (B) T IV, €s. i
©) zm D e Productjyity
Melt:Liguid.: Freez(e J ?) (A) Only 111 IS strong
(4)  Solig (B) e (B) nly Iand I1 are Strong
nwu-'mi:w‘m ﬁf:sntf? (D) Oxygen (C) Onlyw is g.
DH'-' i m‘m% .%’”‘"‘-‘“‘-‘mw,wr-wm. (D) Only Haﬂd are Strong
4 -
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crftgd T H, v

10. 3R 2004 3 , b
i, aﬂ:? S € 240 wg 3t |15, D it fa’-"”.ﬁ.hri"‘ " g
wUE o ?ﬁﬂns i fiverras we fata 2 500 | i g % T T T B v fon
(A) T4 2005 % rvara e o1 7 e 8 AV, T oy,
(C) r.‘;n ftg  (B) & 200 HUE '1 : e | Em.':'.::lr'1:.{”‘:"1”’“- d
If the im;umﬁ?’ (D) T250%% ' Wit Lo ot be 1({n::?; Wi &
and the t.“n“ in 2004 were T 240 crores || 2 nich “';‘II','I‘I word. 5'1l'|dl t‘u-“n the ie of
and 2(}(}qm“ exports in the years 2004 | \\1 the B '_'] MDATION Nal worg s
then the i together were ¥ 500 crores, | T, oMMED gt
(A)  ® gppPOmts in 2005 were ; RECTJONITOR —(B) - MEpjopn.
(C) ¢qenCrores (B) T200crores | () cOMMON (D) MEDIyp
*VCrores (D) ¥ 250 crores (% o -
1. R S S a1, % P S
o 3 ey e  Fafn 37 oq T 8 R o
in r ‘b- £ ,l-f'ﬁ 3 - . w ’
In how many of al %y o1 34 Sl AN T e
exports any of the given years were the | LGN ¢ %7 e
(A) 3‘ more than the impuv\rts 3 =1 gl s , T :
- B)1 @4 (D2 (n the given figure, if Triangle r
12. 3 e S gquare represents La
I} 2002 ¥ HIAT &1 g T 260 S ot 'represents Literate, me:*fmm
U, @ 2002 mmﬁﬁa o ¢ le,ru- " mber of }hOSC Doctors ﬂl’l‘i
If the i 'R the " . who are Literate ?
W ;mports of the company In 2002 Lawy®
¢ € X 260 crores, the exports from the <
Rmpany in 2002 were 0
(B) T 310 %S / T 310 crores
(B) % 360 %S / T 360 crores \
(C) %275 / 2275 crores _
(D) ¥ 325 U / ¥ 325 crores (A) 6 ®3 ©8 @S
13. 2003 ¥ 2004 T WM # fore TR | o0 57 AT R, <+ FEA TR, W
ey e g ? i = 4 HTE 33— F I AT A
/‘:EF What was the percentage increase i '
1~ imports from 2003 to 2004 ? 18+ 6+ | X 2R
(A) 82 £+ stands for division, ‘=’ stands for
(B) 36 multiplication, ‘x* stands for subtraction
(C) =& 379aT #/Data inadequate and ' stands for addition, then
(D) 67 18+6+7x5-2=2
A & o=
s qg_aqar&aﬁ%ﬂ’lﬂ“fgﬁ 3 A2 B)16 ©2 OI8
ey @ FIE IR TE FAgI R ‘
e, afeat, 3 e |18 am fredt B & € T S (X) B EE
Choose the Vemn diagram ¥UEL B8 | Tmafie |
lains relatio :n among given items : :
CXDS 15, Vegetables, Potatoes. Choose the correct mirror image of the
Animals, given figure (X) from amongst the four
altenatives, g
(B)
it WS o M olollo!
ORP00 | oo om o o O
(C) wﬁwwﬁmﬂ'\ﬂwr‘m;is\ﬁi-r.‘..,:“.“ﬁ"‘\g3) (B).(l) (C) ML?‘L“
X ..m:srﬁ“" i T e e e LA TV : 1
M’ﬁ“ ' o ! n

¢
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g after t€n years’ service 5 13 '.,mh
vee { 'rf“ir'c-.{cd Or retiring after
er L or II is im; five years but before 10 years' servi
B) Only assumption | s botl d PF, but that resi gni

. ’ I o ’ : ng this _:"L'T'?.'Od ___\3_ ots either G or PL g
2L Unly assump e employee terminated or retiring

“ 31 re 5y ' service gets PF but not G;
1 resigni g durrr this period gets

ICe

dies after 2 years'
ts both G and PF.

‘€€ was on leave
eriod is deducted
"\er\'icc and then

T RILS Al :"[3
. -85¢ of a Jady e .plovee if she has
= P 2 S 1_-ta*s SETViCe, tWo years are
ﬂ: >l D = d ge 0 her actual service befqre
say ' .— S consq.e e above rules. as & special

", = w20 T SR | 5 of ¢, Ve rules to the cases described in
:f"-;'—'i“ ’:i}:l.r;--,rf-,’-_;‘r:—.—? ethee o | vin

op ST the . “'OWING questions and decide
ga@GC™ g Tho,  “"Ployee jg eligible for G and/or

M

s T

" DH-l



27. fafec @ &9A 3§ e ad & faﬂ!_figﬁ,f"‘fﬂ
o, ¥ A 3t faen AP
# g N 3 wrg F 34 qan A T
fear may |
(A) af G @ pr & a4 w1 v S
q&ar R |
(B) AR &aer G & o waedt B | vy
«C) AR G 3tk pF Zraf fau 1P
(D) AR Faes pr foay o @l £ | th
Mihir hag been cmph’}'cd f;]Y ’ hc
company for five years, during W e :;
took a one-year Jeave without PaY an
was subsequ.gmj'y terminated from the
sérvice.
(A) ifeither G or pF can be given-
(B] if'unly G can be gi\-’t'ﬂ- .
(C) ifboth G and pF can be given:
(D) ifonly PF can pe given.

28. aﬁmﬁasﬁemwmﬁmﬁﬁﬁhﬁm
fear mar |
(A) wﬁcamppﬁaaﬁé@ﬁmm
i

g&al
(B) Fﬁaﬁﬁ(}zﬁmeﬁ‘f?f
(Cy R G 3R PF 2 fru s asd & |
(D) fe % PF fear s gar 2 |
Mr. Ashok was terminated from service

after ten years.
(A) ifeither G or PF can be given.

(B) ifonIchanbegiven.
(C) ifboth G and PF can be given.
(D) ifonly PF can be given.
29, aﬁqa?a'rrf:‘rmfianaﬁﬁﬁmm
F1 3R gy 2 foy |
(A) zrfécmppﬁaaﬁéqu%mm
HH1 3 |
B) 3 G o i3

©) aﬁG\ﬁ{PFa}:ﬁ%qmmg |

_ (]
(A) ifeither Gorp .
ifonly G an be given
( | both G and PF . be
lfonly PF can e 8iven
N e g1y
DH.p "™ ~=vrea, b ng |
Tamwy, m%. o

. 33 $T % Ry ek o

0
ezt 3
Mrs. Deval worked at the
PaNY for

D)

three years. HOWI_!ver, during
that time, She wag op T Yearg

of
Eventually, she wag terminateg &m?\'ﬂ:

job.

.({A) if either G or PF can be givep
(B) ifonly G can be given, ‘
(C) if'bothGandPFcanbesim_
(D) ifonly PF can pe given,

-

S€ven years and eventual
0 a prolonged jllness hag 1
Years, during which he was a
leave, T
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You are ltlllomm Tsmpolice ol'ﬂciqr.
Social medig monitoring reveals plans for
DAY bitory orders, You should: L o
A Request temporary suspension
®) Internet services.

Arrest izers for subversive
social m‘:ﬁ:" ts

(€)' Deploy forces to firmly deny eniry

(D) mﬂ' organizers to explain order
restrictions,







5 geh
43, YT St 3 6, T g
AT Y, aivreni o g =@l Oy | A

® TR A gaEe wi Wl T g o

qurer wiFare & sert ¥

aeenret wfaferar e # '“'{”':' AT <fferat é) GUN
SR o A {0 ¢ = v

(A) :ET;?I _g:‘m cag e |46, T =fad W?:"mﬁ 7 gy Koy

o R o ¥ 12 7% el SCTET R o o o e d by

(B) fo et 4% e Wﬁﬂgﬂ 3 %M%trﬁw
T JE~ : ~ 68! Ry

(C) Jﬂd—;:;:' -;irf]oﬁ'rﬂ 54.‘5;25_{ %Wmaﬁ;:ﬁ a%mmi%
e e #1 El_ﬂﬂ:':f a;:T Hfaa'ﬁn"f (A) 13 k&l B) » a? t‘

gl Hl " E f
(D) 4 }Tu"qf”,"i-nr*ﬁﬂ miﬂ’ ] (C 16 %Iﬂ : (D 1 1 M
erson MOVES In north di

Ap
7 km, then turns left and moo. cCtio
] 0 h

Ves by 4 by

again turns eft and moves 1,

it 37 Ty qTAT
ou ge ;
¢ about *

g p:lm'c call

As a police officer, Y/ yn armed

from a bank manageé hos{ages: As per :
hbery 1 OETES! with 0% tin a e
iy g LS o | again s 8 e movee Gy 5
these should be your immediale ”-"‘plth'l l') il' Ig km om initial POSitio Hoy
(A) Set-up perimeter checkpoIn's K< gc} 16 km (B) 2 n ?
isolate the area lirect] ) (D) 11 km
(B) Rush to the crime S¢¢° guse 147 TH% (r’)%wﬁtﬂ'Q%ﬁm
Iy |

qﬁIa;JW::?m: (?)
(A) HHEIE] B
2 (B) U

without back-up
(C) Use social media to gt
information

her public

(D) Inform and coordinate with other )
E€MeErgency services Find suitable altemativ .
Th e sifert) & & 4, A7 A uestion mark (?), € I plage o
Froret 3 5 ) W%f:ﬂ . raveller : Journey : . g .
S | D
AR T 8 oA Tl 2 | C) Crew D% gli_lter
% ip

48, Fefafed o
%m@%ﬁgmﬁhﬁ

yL18 HebTeH|

(©) i % fagm s

E‘D) THH T8 Syt

5 a POHCE Omcer

-t 3 yOU 3

tl:}n if}rf; Periodic trainjp ¢ tequireq to

Whins nf(‘:e your skills apg Waluation

of the following i { Wledge,

the instituti
the Indfanui;on- that Provide : lame of
(A ! Police Service 2 IMin




F Ak
and & |

|

yrds are
features
pired to

it
ed
|

4

“LINGUIST”

_ are
Immediately preceding
English alphabet series and
?E\'CI‘LU’L letters are ¢
immediately sucucc-jir..; Jetters
English alphabet series, ¢
letters are there bety

E-t! fifth letter of the newly formed Word

E (according to English alphabet
(A) 8 (B)
(C) 9 (D)

51.

() =0 By o AR -
+re brothers el Which of the following diagrams st

n - { . é . -

Sheela is Pramod’s sister. ndicates the relation between Sea, Earth,

»s miece. Shubha is Sun?

How is Rahul related

Rahul and Robi
Robin’s father.
Prema is Pramod
prema’s daughter.
to Shubha ? (A)

(A) Matemal Uncle O

(B) Brother _ .
(©) Can't be determined © @ (D) C§> O

(D) COUSID e ceeroreemiet et 4
= amm. - o e i

(B)

. —

S s 11 . e DH-1
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56,

57.

BN BTV PR LA TETR M

DH-1

B 1 360+ 12 4 4 « 3
1244 x 3
(B)
(D)

Solve :
(A)
(C)

360
102 15

106 42

K,GAagi g, G, AT %»a;q- R &
BT R, R, G A Grer d, @ ¥ @ P Hwg
BRI 7

K is older than G, G is older 1!:‘::111]‘:\:;“,&8}?

younger than R, R is yaum_-' Y
. - oSt ¢
then who among them is younge

(A) R B) G
(C) A (D) K

TF TAHR THE) & sl ol aTg 6 |,
Sreré 4 A ot | ey 148 x 1 T
o T @ e w1 @ 0 TR
6 At x 1 At 7y e B AE T 1A
&y & | 6 F0ft x 4 At 70 T A BEH
& o1 0 e | et 1 (6 T G A
3 @) 1 A o A 6 TR A H,
(4 A o A 3k @) 1 G A 4
s g 7 fafa e |
¥ fret = & R 2 7w 70 71 8 3
Th! i T HIE 71 TE R 7
A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and 1 cm height.
Two faces measuring 4 cm x 1 cm are
coloured in black. Two faces measuring
6 cm x 1 cm are coloured in red. Two
faces measuring 6 c¢cm x 4 cm are
coloured in green. The block is divided
into 6 equal cubes of side | ¢m (from 6
cm side), 4 equal cubes of side | cm
(from 4 cm side).

How many cubes will haye green colour

on two sides and rest of the g; .
no colour ? Sides havmg
(a) 10 ®) 4

© 12 )

L S T .
T L "h-«
. Lot

58,

T e pe T

12

59,

RO R I T [ e—

’-F.Mf*:‘
wyiferer qreor TR By 3 1, we . -
s W';:n;““ﬂ ik
forerferfaa ad o= § . Tl |
1. W A 987 &y g

2. WM A 652 91 mo

: ¥
3. N FEH @G oo 4

S 5
4. ot 3 SR i g g
1 ARA & | s
m,sﬂﬁr‘dﬁrﬁwﬁmmm%i

dryu Ed 4 % fom ww 5
s e 0 & | 37w 51 g

A health-conscious individua] is tryi

remember the hotline numb;y?;fm
recently established .
consultation service. He femen
following points: bers ’
1.  The phone number starts with 987 L

2. The phone number ends wig
s 65
3.  The fourth digit is either 2,4 :;6

V

and not repeated in the dio:
numbers, -
4.  The fifth digit is the product of the -
last digit and the fourth digit.
Now, considering these conditions, the

individual has narrowed down four
potential phone numbers for the nutrition
consultation service. Find the suitable
one.

(A) 98724652  (B) 98762652
(C) 98764652 (D) 98748652

frefeied woa & o w2 R , =
IR I TR iy E, i w
T Y1e2 & A 1 I T 6 =

1 HHAT R | TE TR G | |
In the following question, a word b
been given, followed by four ot
words, one of which cannot be for
using the letters of the given word. F
that word.

PERPETUATION
(A) PIPETTE (B) REF
(C) PENANCE (D) RET

BN ATV e
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CLNP S § o | S e i
0. 9 | a1 |61. j[ g @16 FEreTert~Sperey B |
fa % Uy o |G 4 10
’ 4,,-“51'1’ ,{ ¥ e it 39 gt e e ¢ the ”“‘-’_“““‘J%‘ Which i
. al g ‘nl ['"Lri au e B I s fEr 211 ('|““;]1"¢;. the Mirroy i-l!‘.:li_:r_- of y Ll""“'ﬁ
F b 1 T " T !_h'l o el * LI:1 e I‘C n! />
‘f"},rﬂ It w5y wer ¥ 1 8 3N IEME re” B nation. Biven
T £ T i i L
i --[.” }, L'I 3 '..H."il 1= ) 0l i Al Jr._‘—E cd |'\L‘
Arers L] | 4"‘. . =0 fl\ TIAD -
_ Tl e , gt dlfhen A IX 1A« (B) (.Nix“;
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